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The rxam hags questioms for & total of 50 points.

Answer All Questions

o

1. | 10pt For the circuit shown below calculate the voltage v

2.
Take V, = 5V, By = 2kQ, R, = 10k, Ry = 20k0, R, = 200K0, Ry = 100kQ R, = 2Meg)1, =@

V. ;\*SM%ZP\%@:BV\/(’&SW:M:U

Poge 1 of 5 Ploase g0 on to the next page. ..
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2. A voltage v(t) = { -tV £ 0 is applied to a 2001 F capacitor.
a. Compute the energy stored in the capacitor at ¢ = 3ms.
L sometites: p— —
b. At what time has the energy stored in the capacitor dropped to 50% of its maximum value? (roumded to mc
. nearest sccond) _ s '
. ¢. Determine the current flowing through the capacitor @ : {‘ it
: : 3 5 - . e AL = '
d. Calculate the power delivered by the capacitor to the external circuit at ¢ = 3s) o in) L L Y,

~ R Coge 2a1 D Thoame gor on 56 The next page. .
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10pt | The circ.uit"shcrvm below has been in th

\_I‘ia,ke o = 35;\83 = 25mA,?R1 = 1009,.[.1 = 0.2H, Ra = 2000 Find ig at (a) i=
—— —_

Teedaw 200005 197 153157712
e form shown for a very long time. The switch opens at £ = .
3~ (b) t=3" (c) at ¢
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4. ‘ For the circuit shown below find the
(a) open-circuit voltage Vey
(b) downward current in a short circuit b
(¢) Thevenin cquivalent impedance as seen from x and ¥

!

cos(1000t — 75°)V; By = 30,0, = ?/mim F, Ry =120, Ly

Ny =3
@ Ry /@\4-;

etween x and ¥
|

Take v,(t) = 2 =15 milli H,

i
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Take v, = 3cos{10% — 37°)V, R; = 10002, C, = 100uF, C» = 300pF, L, = 0.5H.

P

—_—

5. Use PSpice to find the rilig_gl_‘iiude and phase of the current I and the ré_a_l and irnaginéa.ry of the voltage at, |

S 10
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